IkEE

5—017 Pierce
P.C.D.9200

+0.03

- 25.4+0.01

8750
81501007

-

Graduation Ring

0'~360°

oull Stug BT(M24X3.0) ||Max Cutter Dia 8150(6")
Select NT(M24X3.0) ||Reduction Ratio 1:1
NT(1") Max Torque 1000N.m
Max Power S8kw
Max Revolving 2000rpm
Main Spindle Steering|Right Turn

Accessories :

T-Screw M16XP2.0X67L X2
T=Screw M16XP2.0X76L X3

)

97/

272

179

)

612857

88




IkEE

Accessories :

o-917
P.C.D.¢200

2545001

9250

"T"—screw oull Rod BT(M24X3.0) ||Max_Cutter Dia $200(8")
MIBXP2.0X76L X3 || "ot NT(M24X3.0) ||Reduction Ratio 101
M16XP2.0X67L X2 NT(1") Max Torque 1000 N—m
Max Power S8kw
Max Revolving 1200 RPM
0°~360° , , in Spi i i
T~ Graduation Ring Main Spindle Steering| Right Turn
|
=
{E____ I
x
] 25 20 >
85| | ez
=" - |
eI s W = e
| 6.5 -
' R
< |
1SO-#50 P ] ) S
|25] ‘4 9128.57 ‘
276 88

C45-4C(F)




IkEE

5—@1/ Pierce

P.C.D.6200

2—=M10XP1.5

(Eye Screws)

5.6 1010

C45N—-02(F)

Graduation Ring

oul Stud BT(M24X3.0) ||Max Cutter Dia $150(6")
Select NT(M24X3.0) ||Reduction Ratio 11
NT(1") Max Torque 1000N.m
Max Power 38kw
Max Revolving 2000rpm

Main Spindle Steering

Right Turn

12 T
- 0°~360 Accessories *
[é/ / T-Screw M16XP2.0¥67L X2
! MAS  BT-50 et T-Screw M16XP2.0X76L X3
] / |
\ |
= \—} ' .
22| e ‘
5= !
SR @Q \ | !
£} ) l | N
<P N~
' 1 N
i :K 0
‘ \
|
1251 wain Spinde _—~ I
#50 9128.57| |
45| 105 || 276 | . 88
(USE LENGHT) 34 / - S -

(ASSEMBLAGE LENGHT) 38




TR Accessories BT(M24X3.0) | | Max_Cutter Dia  |¢150(6”
i T =Screw M1BXP2.0X67L X2 Pg”| Rct’d NT%MZALXB.O% Reduction Ratio | | :(1)
T =Screw M16XP2.0X76L X3 elec NT(1”) Max Torque 1000N.m
Max Power S8kw
Max Revolving 1200rpm
5_17 Piercer Graduation Ring Main Spindle Steering [Right Turn
12 0'~360°
P.C.D.6200 N —
(Eye Bolt) | BT-50 Ef_
MAS403 \ I
1 I
g %&Q : §
g I =
B P e W _ !
l g = Ul N u A
// ‘ / | ﬁ
‘ V T _F_ Y \ Q =
—_ - 31— \ T
4-M8 ‘ | N
P.C.0.098 256188 P5OT-1 | ) BT-450_k T -
B MAS403 N $128.57

C45-TLO3-4(F)

45 105

34 (Use Length)

\A

(Assemblage Length 38)

363




AR BT(M24X3.0) || Max_Cutter Dig $200(8")
Pull Stud Select | [NT(M24X3.0) |"'Reduction Ration 101
A T NT() G Max Power 42kw

CCESSOries - 1 —SCrew Max Torque 1200 N.m

MI8XP2.OX8/L 71y Revoling 1200 RPM

Main Spindle Steering Right Turn

Graduation Ring 1 . .
5_¢19 0"~ 360" . Graduation Ring

P.C.D.9240 0"~360°

25,4703

SN

99

- - N

*\‘fé/

ST ™

$300£0.1

265

166

a—moxprs ) O] |54 108

P.C.D.298 — $128.57
IC)|(I9I/PII(|)IIIII|C)I 341 93

; C50-1(F) o




IkEE

4-M10

5—-019 Pierce

P.C.D.298

P.C.D.8240

Accessories: "T —Screw x5
M18XP2.5X8/L

Graduation Ring

0~3607 |

$3000.1

Max Cutter Dia

$150(6")

Reduction Ration

1: 1

1200N.m

Max Torque

Max Power 42kw

Max Revoling 2000 RPM

Main Spindle Steering|Right Turn
BT(M24X3.0)

Pull Stud Select| [NT(M24X3.0)
NT(1")

+0.30
| [ 2984025 Gradyation Ring
Wﬂmﬂqﬂmﬂmﬂ"ﬂﬁ-/ 0°~360°

0"~ 360°

C50N—-01(E)

183




TR DUl Stud BT(M24X3.0)|| Max Cutter Dia |4150(6”")
Selact NT(M24X3.0)|| Reduction Ratio| 1 : 1
NT(1") Max Torque | 1200Nm
Max Power 42kw
Max Revolving | 2000rpm
_ : Main Spindle Steering |Right Turn
2019 Pierce 2-MIOXP1.5 __12_ Groduation Ring e
ye Bolt) \ T-Screw M18XP2.5X87L
1
450 [}
== NN CAREERN
o7 Tome T\
B N /I R A N ‘
=) - % h |
< jq]% Nl N\ %
r =T \\ N
1 ' N N 3
| k | | |
2561070 WA Main Spindle L1y
- 45| 105 | |35 #50 - hioss|
54 Use Length / . 341 9
(Assemblage Length 38) 434

C50N—-02(E)




IkEE

7

BT(M24X3.0)

Pull Stud Select | [ NT(M24X3.0)

NT(1")

Accessories i T —screw X5
M18XP2.5X87/L

Graduation Ring 12

5-919

0~ 360° -

P.C.D.9240

2—M10XP1.5

(Eye Bolt)

$50010.1

Max Cutter Dig $200(8")
Reduction Ration (I
Max Power 42kw
Max Torque 1200 N.m
Max Revoling 1200 RPM
Main Spindle Steering Right Turn

Graduation Ring

' BT-450

_NAS )

8
]
A 9128

0'~360°

99

263

166

+0.20

_25.6+O.1O

C50-TLO2(F)

45 109 | 35

1SO-#50 _~

$128.57

341

93

Assemblage Length 38

434




